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_. SUBTRACTIONS
3T
Solve by using take from ten strategy using number bond.
Example:

David has 14 books in his bag. He took 8 books and kept in the cupboard. How
many books did David left in the bag?

14-8 = __

David left __ books in the bag.

1. Gabriela has 16 barbie dolls. Her sister has taken away 9 barbie dolls. How many
barbie dolls are left with Gabriela?

16 -9 = __

Gabriela left with ___ barbie dolls.

2. In a park 17 children are playing. After some time, 9 children went away. How
many children are still playing in the park?

17 -9 = __

There are ___ children still playing in the park.
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